> A
A & 0l & AF 2 E A A
20148 &= =0lah LB &
2A NEZ Y
M. Hels WE O XA
S Hsns #4dst (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
e i 3,095,411 4,645,858 A 1,550,447
& 582,000
Al 2,513,411
Helgt ws A x4 30,000 30,000 0
hsws 243t 30,000 30,000 0
NESENM BEEES 30,000 30,000 0
201 Let24dy] 30,000 30,000 0
01 At 22/l 30,000 30,000 0
OuszN 2283 30,000
WEHEANLE RS 1,329,000 2,878,000 A 1,549,000
& 582,000
Al 747,000
wWESotE AL 22| 1,329,000 2,878,000 A 1,549,000
& 582,000
Al 747,000
Helol Es+79 e 140,000 1,976,000 A 1,836,000
& 70,000
Al 70,000
401 AIEHI L 2 CHEI 140,000 1,976,000 A 1,836,000
= 70,000
Al 70,000
01 A& Bl 140,000 1,968,890 A 1,828,890
O0eol E579 Iid 140,000
& 70,000
Al 70,000
Helol2= CCTV & Xl 774,000 440,000 334,000
& 387,000
Al 387,000
401 A& HIZ 201 Y] 774,000 440,000 334,000
& 387,000
Al 387,000
01 A& HI 770,000 436,832 333,168
Oo&olE2& cCTv & Xl 770,000
& 385,000
Al 385,000
03 Al 2 0HHI 4,000 3,168 832
Ooaol2s cCTv &Xl 4,000
& 2,000
Al 2,000
2 sl MA HE 125,000 0 125,000
& 125,000
401 Al HIZ 201 Y] 125,000 0 125,000
& 125,000

- 244 -



SN DERYY
HH: DEAPALRS
el DEOAAIM DL (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 A& HI 125,000 0 125,000
OZIns2el A Ho 125,000
= 125,000
nsSMD HzeE: 29 10,000 10,000 0
201 Let24d] 10,000 10,000 0
01 At 2teltl 10,000 10,000 0
OusESAtD Mz 29 10,000
WESAA WsSHd s 2 80,000 80,000 0
307 gl2tol & 80,000 80,000 0
05 BIZHRI & 3 80,000 80,000 0
ONSAX NsSetd A&8NE 249 80,000
WECHA AlM 4X| 200,000 250,000 A 50,000
401 Al HIZ 201 Y] 200,000 250,000 A 50,000
01 A& HI 200,000 250,000 A50,000
OunsSetd Ald AX 200,000
HYRIZH (RESF D) 36,411 37,858 A1,447
Jleddl(nsd =) 36,411 37,858 A1,447
Jl2dgl(nsd =) 36,411 37,858 N T1,447
201 L2l 22,851 23,578 ANT27
01 At 2t 2l 16,351 17,078 ANT27
O el 6,175
O0elold nstizad 2= M 4,800
@ L& T = 2,400
@=cdidtE N 2,400
O= &l 3,276
oogoleg 28 =4 M3 2,100
02 =224l 6,500 6,500 0
02323 % HA 6,500
202 oddl 9,360 10,080 AT20
01 = LH o4 1l 9,360 10,080 AT20
OJl=g =80l 9,360
203 YR =&t 4,200 4,200 0
04 FANSEHE=LH 4,200 4,200 0
ORN2IEYRZ=AHI 350,000 = 12& 4,200
HWEees (s H) 1,700,000 1,700,000 0
WEHAXS(RSE L) 1,700,000 1,700,000 0
WSEE83H &= 1,700,000 1,700,000 0
701 JIEISI AN E 3 1,700,000 1,700,000 0

- 245 -




e
Ol &3 Of & 2
1,700,000 1,700,000
1,700,000
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